R
ReERTEl % &

e . J thd2 \ /
l [ WHSHE O pEEEk WRS) - - ;
7 5m] JR 3E fiT 8E . RS o & [R5 " r’f
‘alE - EF'%‘I I
4 L":‘J [H|
ﬁ :

- Lo / @iﬁilﬂ
HI Y5 EE . 0] [l
FEBIRE - d =
% 7"7)%7‘3\13 (o k4 ;"%ﬂ-r’g% 75 e g %ii”ﬁstn q’“l-i&%ﬁﬁﬁﬁ
=i S FPOART Y Fi g H i 5
g 4Am1 THE2 A \OB%HE%’A
BT ;

T [ Z =
ar = | = L l’Ts
AR +hE3 B R RAD

g F9)1]]
+iEa @ -Q/

v

|
el
7 - R R
= RTINS
( RANSA788E
/
EF-F[ I.'
KE At iy ‘ﬁﬁ il
4t = L 734
f\\r_\‘j .'I
MR R s L/_/\Q
: SR

WHATIVTACC 7‘?%% 917

2
N

w
FELUFEOHFLE

il
v
]

o e T g B 8,
/ W;%iﬁfl%')ﬁ%?)bj?ﬂ IR k
L HﬂI ﬁ?@ -
s s T T
H : >
IJJ/?HMI j| [N

.'I ﬁtﬁ’ g

=k

L i

H'j'ﬁ‘J)V‘y/\?%ﬁ'J Lyozy

) Br&ar é sk
o I 7E 3 we rrrr
il E/ BRI A\
&) 8 \
W
| $EG)J§HH - \ N -3
By { PEERERT2 m h ”ﬂﬂ

[z

YENNSEY)

. B A Wt
PR bYH FE FRIE R e 1 \
// __________________ - SO LN HORET ] 1 \EUJH’T 5 EC BT
e i
P EERR e
A
i3 Ai— YA E U0 A S g NTYTROY /0 AL T T :
'km ------- --___- _-__:__".-
R ¥ = e T 1
___________ ="
T 4
. 3 N o ;
BRI : - TrREMTRERBEE ey
g e I N STV B AT
=3 @
w— -|+I -._-" f/”) \‘..\
k4 T4 EB B N
': s %ﬁ-%-w
TnpER :
?&ﬁiﬁwﬁi?’;ﬁ* A #r2 AIKET
:

HL S fi £
:' T Eai%ﬂ 5—2
foxnTIME o %',\“. |

\ Fﬁaa@f-ﬁ T INER 2
KS4TSR ' U\J;f—@f‘/gm

INRET 0O

54

2 e c TE=; : / b B 1Y — M
o SR i . ! ! \
%ﬁg A3 Fr BT A AHT "
. Blffize R
On WENT B Hith L
[ZEId] = ar - e ) ]
;‘ HETEET ik
Lo xS EOR = -
—l—z:*/\ . B Ly l\; 0) 5T !
iy o BEIRAA 75 K LA A RAR £,
2980
= TFH
- ---...-H.._\h-‘h- =
-,f’ -—...‘\‘ v 7 "\.\\ d
— L s o . /
JESC S \ o~ o

_ A7 N, T “ P

T \J‘I\“-‘h .r/ 1?51}5)[’ Fgrjy -_‘,..-F--—.-"-‘—-i-'---_‘-‘---#“‘-‘"h—ﬂ"f ; }g 7”1}\_7‘&%_1‘ﬁ'_5‘_
— ‘ mRIIY
1NFi B B jt'i‘ﬂz
— %El\ v

/\x/ wRrvA) W
| / . " \

=oa

HEEFEF V-

ST
EEF
FEIAIIERDY
e .
I et
S
i
Bz
W=
W
FEELRZa=-4YY
- , | ”\ (A1)
o o om : : : @ :vimamins
MOA S — . i S0 F N abics BE 3 e .
¥ '- 2% 1] _ B XERENEOS (HH6F1/1H)
g T mrE .
KIEIC 50 : | - L »» B sumis
N 45 y s A i AN
~ g e FHR R R AR} (RRIEFIA1R)
= y N 1?5.: o
8 e , ~
a M TEPRIL s
L'J = Pd.’ﬁﬁ’r% 5

(C)PASCO (C)INGREMENT P W EZHRKICBVTEHEFHESCEN CCOMBINLHELE—HEERNL. FMIATIEERELET,

1:15,000



